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Even	the	Mini	Cube	can	have	you	twisting	and	turning	down	the	wrong	path.	If	you’re	looking	for	help	on	your	solve	journey,	check	out	the	Solution	Guide	below.	This	is	an	easy	2x2	Rubik's	Cube	tutorial,	where	you	don't	need	to	learn	move	notation	or	long	algorithms.	With	some	practice,	you	should	easily	be	able	to	solve	the	cube	in	under	1	minute.
If	you	want	to	get	even	faster,	you	should	learn	How	to	do	Finger	Tricks	and	Advanced	2x2	Methods.	Below	are	the	steps	from	the	video,	for	reference.	Example	Solve	You	can	also	watch	the	beginner	method	example	solve	in	case	anything	is	unclear.	If	you	have	any	further	questions,	you	can	go	to	the	video	and	leave	a	comment,	which	I	try	my	best
to	answer.	Step	1.	White	Layer	If	0	pieces	are	correct,	turn	the	top	layer	to	get	at	least	1	correct.	If	1	piece	is	correct,	hold	it	in	the	front/right.	If	2	pieces	are	correct	(next	to	each	other),	turn	the	top	layer	so	that	only	1	is	correct.	If	2	pieces	are	correct	(across/diagonal	from	each	other),	hold	any	piece	in	the	front/right.	If	all	4	pieces	are	correct,	you
are	done	this	step!	Turn	the	top	with	your	right	hand,	then	turn	the	right	side	up	Turn	the	top	with	your	left	hand,	then	turn	the	left	side	up	Repeat,	but	go	down	instead	of	up	Turning	the	whole	cube	to	get	the	next	piece	to	the	bottom/right.	Make	sure	you	turn	only	the	bottom	layer.	Not	finishing	the	4-moves	because	the	piece	is	solved	after	3	moves.
Make	sure	you	always	finish	the	4-moves.	Congrats	on	solving	the	2x2	Rubik's	Cube!	If	you	want	to	get	faster,	you	should	learn	How	to	do	Finger	Tricks	and	Advanced	2x2	Methods,	such	as	the	tutorial	video	here.	Good	luck!	Share	—	copy	and	redistribute	the	material	in	any	medium	or	format	for	any	purpose,	even	commercially.	Adapt	—	remix,
transform,	and	build	upon	the	material	for	any	purpose,	even	commercially.	The	licensor	cannot	revoke	these	freedoms	as	long	as	you	follow	the	license	terms.	Attribution	—	You	must	give	appropriate	credit	,	provide	a	link	to	the	license,	and	indicate	if	changes	were	made	.	You	may	do	so	in	any	reasonable	manner,	but	not	in	any	way	that	suggests
the	licensor	endorses	you	or	your	use.	ShareAlike	—	If	you	remix,	transform,	or	build	upon	the	material,	you	must	distribute	your	contributions	under	the	same	license	as	the	original.	No	additional	restrictions	—	You	may	not	apply	legal	terms	or	technological	measures	that	legally	restrict	others	from	doing	anything	the	license	permits.	You	do	not
have	to	comply	with	the	license	for	elements	of	the	material	in	the	public	domain	or	where	your	use	is	permitted	by	an	applicable	exception	or	limitation	.	No	warranties	are	given.	The	license	may	not	give	you	all	of	the	permissions	necessary	for	your	intended	use.	For	example,	other	rights	such	as	publicity,	privacy,	or	moral	rights	may	limit	how	you
use	the	material.	Download	Article	Learn	the	algorithms	for	solving	a	Rubik's	cube	with	our	guide	Download	Article	If	you	want	a	simple	start	to	solving	Rubik’s	Cubes,	a	2x2	or	mini	cube	is	the	perfect	starting	point.	2x2	Rubik’s	Cubes	are	a	lot	easier	to	solve	than	the	standard	cube,	and	all	you	have	to	do	is	memorize	a	few	specific	moves	to	match	all
the	colors.	Keep	reading,	and	we’ll	walk	you	through	all	the	steps	and	algorithms	you	need	to	solve	the	cube	quickly!	Learn	the	names	of	the	6	faces	and	how	to	read	algorithms.	Rubik’s	Cube	expert	Phil	Yu	mentions	that	to	make	solving	less	complicated,	people	use	special	notation	to	name	the	cube’s	faces	and	which	way	to	turn	them.	An	“algorithm”
is	just	a	sequence	of	moves	listed	in	order	to	move	the	colors	into	the	right	spots.	When	you	see	a	letter	all	by	itself,	turn	the	matching	face	clockwise	by	90	degrees.	U	=	the	upper	face	on	top	D	=	the	down	face	on	the	bottom	R	=	the	right	face	on	the	right	side	L	=	the	left	face	on	the	left	side	F	=	the	front	face	B	=	the	back	face	If	the	letter	is
followed	by	an	apostrophe,	such	as	U’	or	F’,	then	turn	the	face	counter-clockwise	by	90	degrees	instead.	If	the	number	2	comes	after	a	letter,	like	D2	or	L2,	then	turn	the	face	clockwise	twice	for	a	total	of	180	degrees.	Advertisement	1	Start	with	the	white-red-blue	corner	in	the	top	layer.	Find	the	corner	of	your	2x2	Rubik’s	Cube	that	has	the	white
square	with	the	logo	printed	on	it.	Position	the	cube	so	the	white	square	is	on	the	upper	face,	the	red	square	is	on	the	front	face,	and	the	blue	square	is	on	the	right	face.[1]	While	you	may	turn	and	rotate	the	cube	throughout	solving	it,	you’ll	always	return	to	this	position	to	check	your	progress	on	the	top	layer.	When	you’re	finished	setting	the	top
layer	of	your	Rubik’s	cube,	the	white	squares	will	all	be	on	the	upper	face.	2	Position	the	white-blue-orange	corner	on	the	bottom	layer.	Look	for	the	corner	that	has	the	white,	blue,	and	orange	squares	and	note	its	location.	If	it’s	already	on	the	bottom	layer,	then	move	on	to	the	next	step.	If	the	corner	is	in	the	top	layer,	hold	the	cube	so	the	corner	is
positioned	in	the	top-right	of	the	front	face	and	do	the	following	algorithm:[2]	(R’,	D’,	R)This	shifts	the	white-blue-orange	corner	to	the	bottom	layer.	It	doesn’t	matter	which	squares	are	on	each	face.	If	the	white-blue-orange	corner	is	already	next	to	the	white	square	with	the	logo	and	both	blue	squares	are	next	to	each	other,	then	the	corner	is	already
in	the	right	position.	3	Move	the	white-blue-orange	corner	into	position	in	the	top	layer.	Hold	your	Rubik’s	Cube	so	the	white	square	with	the	logo	is	in	the	bottom-left	corner	of	the	upper	face.	Twist	the	down	face	until	any	square	of	the	white-blue-orange	corner	is	in	the	bottom-right	of	the	front	face.	The	next	moves	depend	on	which	square	is	on	the
front	face.[3]	If	the	white	square	is	on	the	front	face,	use	the	algorithm	(R)This	brings	the	white	squares	together	on	the	upper	face	and	the	blue	squares	together	on	the	front	face.	If	the	blue	square	is	on	the	front	face,	use	the	algorithm	(R’,	D’,	R)This	positions	the	blue	square	on	the	bottom	first,	then	shifts	the	white	square	to	the	front,	and	then
finally	places	the	white	square	on	the	upper	face.	If	the	orange	square	is	on	the	front	face,	then	follow	the	algorithm	(D,	R2)This	shifts	the	blue	square	to	the	back	and	then	brings	the	white	and	blue	squares	together	on	the	upper	and	front	faces.	4	Move	the	white-green-orange	corner	to	the	bottom	layer.	Hold	your	Rubik’s	cube	so	the	white-blue-
orange	corner	is	on	the	left	side	of	the	front	face	and	the	white	square	is	on	the	upper	face.	Look	for	the	corner	with	the	white,	green,	and	orange	squares	and	note	it’s	position.	If	it’s	in	the	top	layer	already,	moving	it	to	the	bottom	layer	makes	it	easier	to	position	correctly.[4]	If	the	orange	square	is	in	the	top-right	corner	of	the	upper	face,	then	just
do	(R’)This	immediately	places	the	corner	in	the	correct	position	and	you	can	move	on	to	placing	the	final	corner.	If	the	green	or	white	square	is	in	the	top-right	corner	on	the	upper	face,	then	use	the	algorithm	(R,	D’)This	brings	the	white-green-orange	corner	to	the	bottom	layer	with	one	of	the	squares	on	the	front	face.	If	the	orange	or	green	square
are	on	the	bottom-right	corner	of	the	upper	face,	then	use	(R2,	D’)This	first	places	the	corner	in	the	bottom	layer	on	the	back	face,	and	then	positions	it	on	the	front	face.	5	Place	the	white-green-orange	corner	in	its	spot	in	the	top	layer.	Make	sure	the	orange	square	of	the	white-blue-orange	corner	is	at	the	top-left	of	the	front	face.	Twist	the	bottom
layer	of	your	Rubik’s	cube	so	the	white-green-orange	piece	is	in	the	bottom-right	of	the	front	face.	Your	next	movements	depend	on	which	square	is	facing	the	front.[5]	If	the	white	square	is	on	the	front	face,	use	the	algorithm	(R)This	places	the	third	white	square	into	the	proper	spot	on	the	upper	face.	If	the	orange	square	is	on	the	front	face,	use	the
algorithm	(R’,	D’,	R)This	first	moves	the	orange	square	on	the	bottom,	then	moves	the	white	square	to	the	front,	and	then	positions	the	white	square	in	the	correct	spot	on	the	upper	face.	If	the	green	square	is	on	the	front	face,	then	follow	the	algorithm	(D,	R2)This	moves	the	orange	square	to	the	back	and	then	brings	the	white	and	green	squares
together	on	the	upper	and	left	faces.	6	Move	the	final	white	corner	to	the	upper	face	to	complete	the	top	layer.	Hold	your	Rubik’s	cube	so	the	white-green-orange	square	is	in	the	top-left	corner	and	the	green	square	is	on	the	front	face.	Find	the	final	white-green-red	corner	and	note	its	position.	If	it’s	already	in	the	top	layer	and	the	white	square	is	on
the	upper	face,	then	the	layer	is	already	solved.[6]	If	the	corner	is	in	the	top	layer	but	the	red	or	green	square	is	on	the	upper	face,	then	use	the	algorithm	(R’,	D’,	R)This	positions	white-green-red	corner	onto	the	bottom	layer	without	affecting	the	other	correctly-placed	corners.	When	the	corner	is	in	the	bottom	layer,	twist	the	bottom	layer	until	the
piece	is	in	the	bottom-right	corner	of	the	front	face.	If	the	red	square	is	on	the	front	face,	use	the	algorithm	(F,	D’,	F’,	D2,	D’,	R’,	D,	R)The	first	moves	of	the	algorithm	bring	the	white	square	to	the	bottom-right	front	corner,	and	then	the	last	4	moves	place	the	corner	back	on	the	top	layer.	If	the	white	square	is	on	the	front	face,	use	the	algorithm	(D’,
R’,	D’,	R)This	repositions	the	final	corner	so	the	red	squares	are	touching	on	the	right	face,	and	then	moves	the	white	square	to	the	upper	face.	If	the	green	square	is	on	the	front	face,	then	follow	the	algorithm	(R’,	D’,	R)This	moves	the	red	square	to	the	right	face	and	then	brings	the	white	and	green	squares	together	on	the	upper	and	front	faces.
When	you’re	finished,	all	4	white	squares	will	be	on	the	upper	face	and	the	2	squares	of	each	other	color	will	be	on	the	same	face.	Advertisement	1	Flip	the	cube	over	and	check	yellow	squares	on	the	upper.	Hold	your	2x2	Rubik’s	Cube	so	the	4	white	squares	are	on	the	down	face	on	the	bottom.	Then,	look	at	the	upper	face	to	see	if	there	are	any
yellow	squares	already	placed	there.	Reposition	the	cube	so	it	has	one	of	the	following	layouts:[7]	1	yellow	square	is	in	the	bottom-left	corner	of	the	upper	face	No	yellow	squares	on	the	upper	face,	and	1	yellow	square	on	the	top-right	corner	of	the	left	face	2	yellow	squares	in	the	top	corners	of	the	upper	face,	and	1	yellow	square	in	the	top-left	corner
of	the	front	face	2	yellow	squares	in	the	right	corners	of	the	upper	face,	and	1	yellow	square	in	the	top-left	corner	of	the	front	face	2	yellow	squares	in	the	top-left	and	bottom-right	corners	of	the	upper	face,	and	1	yellow	square	in	the	top-left	corner	of	the	front	face	2	Use	(R,	U,	R’,	U,	R,	U2,	R’)	to	place	all	yellow	squares	on	the	upper	face.	No	matter
which	layout	your	cube	has	from	the	previous	step,	use	the	same	algorithm.	If	you	do	the	algorithm	once	and	all	the	yellow	squares	still	aren’t	on	the	upper	face,	then	reposition	your	cube	to	one	of	the	layouts	in	the	previous	step	and	repeat	the	algorithm	again.[8]	You	may	have	to	repeat	the	algorithm	2-3	times	to	move	all	the	yellow	squares	to	the
upper	face.	3	Finish	the	Rubik's	Cube	with	(R’,	F,	R’,	B2,	R,	F’,	R,	B2,	R2,	U’).	Twist	the	top	layer	of	the	cube	so	2	of	the	top	corners	match	the	colors	of	the	bottom	layer.	Position	your	Rubik’s	cube	so	corners	you	need	to	swap	are	either	next	to	each	other	or	diagonal	from	each	other.	Then,	use	the	algorithm	to	reposition	the	corners.	If	the	corners	are
still	in	the	incorrect	positions,	then	keep	repeating	the	algorithm	until	the	cube	is	completely	solved.[9]	Tip:	To	remember	the	movements	of	the	final	algorithm	steps,	use	the	chant:	“Run	to	me,	Fast,	Run	to	me,	Back	Back,	Run	away,	Fast,	Run	to	me,	Back	Back,	Run	Run	away,	Up.”	Advertisement	Ask	a	Question	Advertisement	Thanks	Thanks
Advertisement	Thanks	for	reading	our	article!	If	you’d	like	to	learn	more	about	rubik's	cubes,	check	out	our	in-depth	interview	with	Timothy	Huynh.	This	article	was	co-authored	by	Timothy	Huynh	and	by	wikiHow	staff	writer,	Hunter	Rising.	Timothy	Huynh	is	a	Rubik’s	Cube	Artist	&	Champion	based	in	Tampa,	Florida.	Timothy	has	been	solving
Rubik's	Cubes	professionally	since	2016	and	became	a	Guinness	World	Record	Holder	with	advanced	Rubik's	cube-solving	skills.	Timothy	has	a	follower	base	of	over	8.6	million	YouTube	subscribers	and	124k	followers	on	Instagram.	Internet	celebrities	including	David	Dobrik	and	Simu	Liu	have	sung	his	praises,	and	Pixar	has	deemed	his	work
"incredible."	This	article	has	been	viewed	327,103	times.	Co-authors:	19	Updated:	February	7,	2025	Views:	327,103	Categories:	Featured	Articles	|	Rubik's	Cube	Print	Send	fan	mail	to	authors	Thanks	to	all	authors	for	creating	a	page	that	has	been	read	327,103	times.	A	2x2	is	a	six	sided	cubic	puzzle	similar	to	the	3x3	Rubik's	cube,	but	it	only	has	two
layers,	with	4	corners	on	each	layer.	There	are	no	center	or	edge	pieces.	You	can	use	the	same	steps	to	solve	a	2x2	as	you	use	for	the	corners	of	a	3x3.	It	can	be	more	difficult	to	recognise	cases	as	there	is	no	center	to	reference.	This	guide	will	help	you	to	solve	the	2x2	in	3	steps:	STEP	1		-		COMPLETE	THE	WHITE	LAYERSTEP	2		-		COMPLETE	THE
LAST	LAYER	CORNERSSTEP	3		-		COMPLETE	THE	LAST	LAYER	(ORIENTATION)			DOWNLOAD	Print	Friendly	PDF	-	How	to	Solve	a	2x2	Beginners	Guide		STEP	1a	-	COMPLETE	THE	WHITE	BAR	Find	the	WHITE/RED/GREEN	corner	and	hold	the	cube	with	the	WHITE/RED/GREEN	corner	in	the	front	top	left	position	with	the	WHITE	ON	TOP.		Notice
the	red	side	of	the	corner	will	be	facing	you	and	the	green	will	be	on	the	left.	Find	the	WHITE/RED/BLUE	corner	and	move	it	to	the	bottom	front	right	position.	(KEEPING	THE	WHITE/RED/GREEN	CORNER	IN	PLACE).	Choose	one	of	the	3	colour	images	below	that	matches	your	cube	and	follow	the	arrow	steps	to	put	the	WHITE/RED/BLUE	corner	in
place.	STEP	1b	-	COMPLETE	THE	3rd	WHITE	Corner	Keeping	the	WHITE	bar	on	top,	turn	the	cube	so	that	the	WHITE/RED/BLUE	corner	is	now	in	the	front	top	left	position.	Notice	the	blue	side	of	the	corner	will	be	facing	you	and	the	red	will	be	on	the	left.	Find	the	WHITE/BLUE/ORANGE	corner	and	move	it	to	the	bottom	front	right
position.	(KEEPING	THE	WHITE	BAR	IN	PLACE).	Choose	one	of	the	3	colour	images	below	that	matches	your	cube	and	follow	the	arrow	steps	to	put	the	WHITE/BLUE/ORANGE	corner	in	place.	Result:	STEP	1c	-	COMPLETE	THE	4th	WHITE	Corner	Keeping	WHITE	on	top,	turn	the	cube	so	that	the	WHITE/BLUE/ORANGE	corner	is	now	in	the	front	top
left	position.	Find	the	WHITE/GREEN/ORANGE	corner	and	move	it	to	the	bottom	front	right	position	(KEEPING	THE	3	COMPLETED	WHITE	PIECES	IN	PLACE).		Choose	one	of	the	3	colour	images	below	that	matches	your	cube	and	follow	the	arrow	steps	WHITE/GREEN/ORANGE	corner	in	place.			Possible	Problem:	The	corner	you	are	looking	for	is
in	the	top	layer,	but	in	the	wrong	position	or	turned	the	wrong	way	around.	Turn	the	cube	so	that	the	corner	is	in	the	front	right	top	corner	then	move	the	corner	to	the	bottom	layer	by	following	the	following	steps.	Solution:	Perform	these	steps	,	then	choose	again	from	steps	above	to	put	the	corner	in	place		Result:	STEP	2		-		PLACE	LAST	LAYER
CORNERS	IN	THE	CORRECT	POSITION1.	Turn	your	cube	around	so	that	WHITE	is	now	on	the	bottom.	2.	Turn	the	top	layer	so	that	ONLY	ONE	corner	matches	the	bottom	corners	colors.	Ignoring	the	White	and	Yellow	colors.	The	corner	may	not	be	the	correct	way	around.	(In	the	example	below	we	placed	the	YELLOW/ORANGE/GREEN	corner	on
top	of	the	WHITE/ORANGE/GREEN	corner.	3.	Turn	the	whole	cube	so	that	the	correct	corner	is	in	the	front	top	right	position.	The	piece	is	in	the	correct	position,	BUT	may	not	be	turned	the	correct	way	around.			Repeat	the	sequence	above	until	all	the	corners	are	in	the	correct	position,	meaning	the	colors	match	the	bottom	corner	(excluding	white
and	yellow).	The	corners	may	not	be	the	correct	way	around	-	that's	OK.	Possible	Problem1:	You	have	2	corners	in	the	correct	position	(matching	their	bottom	colors)	Solution:	Keep	turning	the	top	Layer	(yellow)	until	only	ONE	corner	is	in	the	correct	position.		STEP		3	-		ORIENTATE	LAST	LAYER	CORNERS		The	next	steps	will	turn	the	corners	(one
by	one)	the	correct	way	and	ultimately	solve	the	cube.	NOTE:	THIS	ROUTINE	MAY	APPEAR	TO	UPSET	THE	REST	OF	THE	CUBE.	DO	NOT	DESPAIR	AND	KEEP	THE	SAME	SIDE	FACING	YOU	IT	WILL	ONLY	BE	SOLVED	ONCE	THE	LAST	CORNER	IS	ORIENTATED.				Repeat	the	moves	until	the	YELLOW	side	of	the	corner	piece	is	on	top.	You	may
have	to	do	it	2-3	times.	KEEP	THE	SAME	SIDE	OF	THE	BOTTOM	LAYER	FACING	YOU.		Rotate	the	TOP	LAYER	ONLY	until	the	next	corner	piece	to	be	rotated	is	in	the	top	right	position.	Repeat	the	above	sequence	until	the	YELLOW	side	of	the	corner	that	you	are	rotating	is	on	top.	Continue	the	process	until	the	cube	is	complete.	YOU	HAVE	DONE
IT	!!!	Puzzle	is	also	known	as	Pocket	Cube,	2x2	Rubix	cube,	four	squares	cube,	eight	squares	cube.	and	2X2	How	to	solve	a	2x2	using	Ortega	Method	|	INTERMEDIATE	The	2x2x2	Rubik's	cube,	or	in	its	official	name-	the	Pocket	Cube,	is	another	puzzle	in	the	Rubik's	cube	series,	invented	by	Erno	Rubik.	It	is	considered	the	"easy"	version	of	the	Rubik's
cube.	You	will	find	out	that	solving	the	2x2	cube	is	much	easier	than	solving	the	classic	3x3x3	cube.	If	you	can	already	solve	the	classic	Rubik's	cube,	then	lucky	you-	you	already	know	how	to	solve	a	2x2	cube!	Here	is	a	nice	perspective	of	the	puzzle:	the	2x2	cube	is	actually	a	regular	3x3	cube,	without	the	edges	and	the	center	pieces.	So	basically
solving	the	2x2	cube	will	be	identical	to	solving	only	the	corners	of	the	3x3.	You	will	be	surprised	that	some	of	the	algorithms	you'll	have	to	know	are	identical	to	those	you'll	need	in	order	to	solve	the	2x2	cube,	and	you	already	know	all	of	them	if	you	are	familiar	with	the	speedsolving	method..	Before	starting	the	solution	guide,	make	sure	you	know
the	Rubik's	cube	move	notations.	For	2x2,	the	notations	are	exactly	the	same	(same	faces,	same	letters,	same	cube	rotations,	just	without	the	"middle	layer	moves"	–	as	there	aren't	such	in	the	2x2	cube)	This	step	is	identical	to	step	2	of	the	3x3	cube	solution.	Choose	a	color	to	start	with	(Most	popular	color	to	start	with	is	white	or	yellow	–	In	this	guide
I	chose	yellow).	Choose	a	corner	that	has	this	color	(yellow	in	our	case),	and	bring	the	other	3	corner	pieces	to	it.	Make	sure	that	you	solve	the	corner	pieces	correctly	in	relation	to	each	other	(also	the	side	colors	of	the	corner	pieces	should	fit	each	other,	not	only	the	yellow.	See	image-	right/wrong).	There	are	3	different	cases	to	solve	a	corner	piece
to	its	correct	position	without	harming	the	other	corners:	F	D	F'	R'	D'	R	R'	D2	R	D	R'	D'	R	Flip	the	cube	upside	down	(the	solved	layer	should	be	on	the	bottom	now).	In	this	step	the	goal	is	to	orient	the	last	layer	pieces.	The	result	should	be	that	the	opposite	color	to	the	color	we	started	with	will	be	completed	(In	our	case:	the	opposite	color	to	yellow	is
white).	Note	that	unlike	the	first	step,	here	the	permutation	of	the	corners	does	not	matter,	meaning	that	they	don't	have	to	be	correctly	solved	in	relation	to	each	other	(side	stickers	don't	have	to	fit).	There	are	7	possible	cases	of	last	layer	orientations	(not	including	the	already	oriented	case):	(The	gray	color	means	the	sticker	is	not	the	upper	face
color.	The	bars	to	the	sides	show	where	the	upper	face	color	is.	In	our	case	it's	white,	not	yellow.	It	doesn't	matter	of	course.)	Case	#1	R'	U'	R	U'	R'	U2	R	Case	#2	L	U	L'	U	L	U2	L'	Case	#3	R2	U2	R	U2	R2	Case	#4	F	[R	U	R'	U']	[R	U	R'	U']	F'	Case	#5	F	[R	U	R'	U']	F'	Case	#6	[R	U	R'	U']	[R'	F	R	F']	Case	#7	[F	R	U'	R'	U'	R	U	R'	F']	It	is	best	to	learn	all
the	7	algorithms.	However,	it	is	possible	to	completely	solve	this	step	using	only	1	algorithm	–	the	first	algorithm.	The	idea	is	to	execute	this	algorithm	from	different	angles	until	its	suitable	case	shows	up,	then	execute	it	one	more	time	and	solve	the	step.	It	is	possible	to	solve	all	possible	cases	within	3	executions,	or	2	if	you	use	also	its	mirror
algorithm	(case	#2).	The	first	algorithm	orients	3	corners	counter-clockwise	and	leaves	the	4th	corner	intact	(its	mirror	algorithm,	case	#2,	does	the	same,	but	clockwise).	Before	executing,	try	to	think	from	which	angle	executing	this	algorithm	will	leave	only	1	oriented	corner	(can	be	done	within	1	execution	from	all	cases),	than	just	apply	the
suitable	algorithm	(case	#1	or	#2).	You	can	execute	algorithm	#1	twice	instead	of	the	using	#2	algorithm	when	it's	needed	(in	a	case	a	clockwise	rotation	needed	(case#2).	Doing	counter-clockwise	twice	for	the	corners	will	be	just	like	doing	a	clockwise	orientation,	which	will	solve	them.)	Note	that	6	of	these	7	algorithms	are	exactly	the	same
algorithms	being	used	in	the	speedsolving	method	of	the	Rubik's	cube.	You	can	see	it	is	the	same	7	possible	cases	when	all	the	edges	of	the	3x3	are	oriented:	OLL	algorithms	page.	However,	since	there	are	no	edges	to	preserve,	we	can	use	shorter	algorithms	from	other	cases	of	the	traditional	OLL	of	the	3x3	Rubik's	cube,	as	long	as	they	rotate	the
corners	as	we	need:	For	the	first	case	best	algorithm	is	the	anti-Sune	(OLL	algorithm	#26)	For	the	second	case	best	algorithm	is	the	Sune	(OLL	algorithm	#27)	The	third	case	is	special:	a	shorter	algorithm	can	be	applied,	which	does	exist	in	the	3x3	OLL,	however	OLL	algorithm	#21	is	very	nice)	For	the	fourth	case	best	algorithm	is	the	easiest	L	(OLL
algorithm	#48)	For	the	fifth	case	best	algorithm	is	the	first	T	(OLL	algorithm	#45)	For	the	sixth	case	best	algorithm	is	the	second	T	(OLL	algorithm	#33)	For	the	seventh	case	best	algorithm	is	the	first	Fish	(OLL	algorithm	#37)	In	this	step	the	goal	is	to	permute	the	last	layer	pieces	so	they	will	be	also	correctly	solved	in	relation	to	each	other,	and	not
only	correctly	oriented.	This	step	is	very	similar	to	step	5	of	the	3x3	solution	(beginner's	method)	(-also	the	same	algorithm	can	be	applied,	it	is	just	that	the	one	I	show	here	permutes	the	corners	clockwise	and	not	counter-clockwise).	The	way	to	solve	this	method	is	by	looking	for	2	corners	that	are	correctly	permuted	in	relation	to	each	other	(can	be
easily	recognized	by	the	fact	that	2	correctly	solved	corners	in	relation	to	each	other	has	the	same	color	on	their	mutual	face.	Look	for	the	same	color	in	2	adjacent	corners).	If	you	don't	have	2	corners	that	are	correctly	permuted,	just	execute	the	following	algorithm	below	from	any	angle	that	you	want.	After	that	execution,	2	correctly	permuted
corners	will	show	up.	Then:	Do	some	U	turns	so	the	2	adjacent	same	colors	will	line	up	with	their	color	on	the	bottom	layer.	Rotate	the	cube	so	that	this	solved	color	will	be	on	the	right	face-	see	image	above.	Do	U'	once.	The	effect	of	this	move	is	that	the	front-left	corner	will	become	"solved"	now,	and	the	3	other	corners	will	require	a	clockwise
rotation	between	them.	This	is	exactly	what	the	next	algorithm	does.	Execute	the	following	algorithm:	(This	is	the	Aa-perm	algorithm.	l'	replaced	for	L'	because	no	middle	layer)	L'	U	R'	D2	R	U'	R'	D2	R2	That’s	it!	You	have	just	solved	the	2	by	2	Rubik's	cube!	Congratulations!	Keep	practicing	on	solving	the	first	layer	and	learn	the	algorithms	by	heart,
so	you	could	solve	the	2x2	cube	without	needing	them	written	around	you	(They	are	also	useful	for	3x3	speedcubing!).	If	you	didn't	solve	the	3x3	Rubik's	cube	yet,	it's	just	about	the	time	to	start,	you	already	have	much	of	the	basics!	Congratulations!	Add	Rubiksplace.com	to	Favorites!	Read	my	best	2x2	speed	cubes	guide	Where	I	review	the	best	2x2
cubes	today,	current	world	records,	top	cubers	choices	and	where	to	get	them.	They	are	much	faster	and	pleasant	for	solving	and	cost	around	~10$.	I	have	always	been	a	fan	of	twisty	puzzles	since	January	of	this	year,	and	when	the	time	came	to	write	a	tutorial	on	how	to	solve	the	2x2	cube	for	my	book,	Caleb	X's	Extensive	Cubing	Book,	i	was
delighted.	In	this	tutorial,	i	will	be	using	a	Rubik's	Pocket	Cube,	since	that's	the	only	2x2	i	own	(i	have	several)	that	has	a	logo	on	it.	It's	not	my	favorite,	but	it	gets	the	job	done.Note,	i'll	be	requiring	you	to	know	how	to	at	least	solve	a	3x3	because	i	won't	be	explaining	cube	notation.	If	you	don't	know	how	to	solve	a	3x3,	please	learn	how	to	solve	that
first	because	a	2x2	is	a	3x3	without	centers	or	edges.	It's	simpler,	but	that	doesn't	make	it	any	easier.Scramble	your	cube.	When	it's	scrambled,	i	want	you	to	find	the	red,	white	and	blue	piece.	Find	the	piece	opposite	of	that,	red	white	and	green,	and	move	it	under	the	piece	adjacent	to	the	red,	white	and	blue	piece.	Do	the	following	algorithm:	Ri,	Di,
R,	D.	Do	that	algorithm	1,	2,	or	3	times	until	the	two	white	pieces	match	up.Now	i	want	you	to	solve	the	rest	of	the	white	face.	Continue	to	use	the	Ri,	Di,	R,	D	algorithm;	it's	the	easiest	algorithm	you	can	do	to	solve	the	corners.	Find	a	third	white	piece	that	you	want	to	use,	again	moving	it	underneath	the	piece	adjacent	to	the	one	you	want	to	put	it
next	to.	Do	Ri,	Di,	R,	D	up	to	four	times	until	the	third	piece	lines	up.	Once	three	of	the	four	pieces	are	in,	i	want	you	to	do	the	same	for	the	fourth.	Once	all	four	pieces	are	in,	half	of	the	cube	should	now	be	solved.	Before	you	move	onto	step	three,	i	want	you	to	flip	over	your	cube	so	the	white	face	is	on	the	bottom.There	are	seven	cases	that	your	cube
will	be	in	after	you	solve	the	white	side.	I	want	you	to	stop,	put	your	cube	down	and	look	at	the	picture	until	you	have	all	seven	cases	memorized.The	sune	algorithm	is	R,	U,	Ri,	U,	R,	U2,	Ri.	Do	that	1,	3,	5,	or	even	6	times	until	all	four	yellow	pieces	are	on	top.	After	each	time	you	do	the	algorithm,	i	want	you	to	look	over	your	cube	and	match	it	so	it's
the	same	as	one	of	the	cases.Your	cube	may	LOOK	solved,	but	there	are	two	pieces	that	need	to	swap	places.	Orient	your	cube	so	the	two	permuted	pieces	are	in	the	back	(so	it	matches	with	the	bottom	layer	and	solves	the	face).	Perform	the	following	algorithm:	Ri,	F,	Ri	B2,	R,	Fi,	RI,	B2,	R2,	UiDo	that	1,	3	or	even	5	times.	If	the	two	pieces	that	need
to	swap	are	diagonal	(and	not	next	to	each	other)	do	the	algorithm	once	so	the	two	unsolved	pieces	are	next	to	each	other.	Then	i	want	you	to	move	the	solved	pieces	to	the	back	and	do	the	algorithm	again.Look	over	your	cube	and	review	this	tutorial	to	see	if	you	missed	any	steps.	If	all	eight	pieces	are	oriented	AND	permuted	properly,
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